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8 T =
FHRE
i | 227,108 | 226,175 | 453, 283
2 | BRI 17,806 [ 81,234 [ 159, 040
3 | Wik 40,232 | 42,030 | 82,262
4 | FEEF 61,766 | 63,433 [ 125,199
5 | BB 51,525 | 52,883 | 104, 408
6 | At 46,840 | 49,189 | 96,029
T | /b 18,348 | 77,490 | 155, 838
8 | HIi 31,913 [ 31,047 [ 62,960
K HJE
9 (i 37,466 | 37,756 | 15,222

5 z HEt
FHRE
1 i | 227,108 | 226,175 | 453,283
2 | BF 17,806 | 81,234 | 159, 040
T | /il 18,348 | 77,490 | 155, 838
4 | B 61,766 | 63,433 [ 125,199
5 | BEET 51,625 | 52,883 | 104, 408
6 | Aot 46,840 | 49,189 [ 96,029
3 | WA 40,232 | 42,030 | 82,262
KR
9 il 37,466 | 37,756 | 175,222
8 | Eldri 31,913 [ 31,047 [ 62,960
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[ F—SHE EMAYAK]; |

m char s[80];

m int a[10],

m Int b[5],c[8];
m double d[20];

%E’E’C(iﬁﬂﬁ”0),,1“2_?(:4:075\159‘*?%’9

inta[10];.EEL=mE, FIATEAND(Fa[0]h ba[9]F
T. a[lO](i*UFH’C%&L\(3//\47l;t9'-1 v L7%ELY)
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— X JTheA! H SHITHU<( B
n —RFTEIIDYHIE A0
/int a[3]; \: [int a[3] = {3,7,5}; } = {int a[3] = {3,7,5,5,/1
alo] = 3; 4 I
a[l] =7,
ka[2] = 5; ) [int a[2] = {3,7,5}; } [int a[W}; }
n XFEH DAL | HAREERLTHRL |

[char s[4] = {'p’,’e’,’n’, ' ¥0’}; ] = [char s[4] = “pen”;: = [char s[]= “pen”;}

w3 F ¥OHYA ﬂ_ ) \
B0T, XEFIE char s[3] = "pen”;| ﬂ%?é%%bf%ﬁ}
+ 1 LY
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#include <stdio.h>

int
sum(const int af ]+
Int i;
ints =0;
for (I=0;1<n;i++)
s +=ali];
}
return s;
)
int

main(int argc, char** argv) {
int a[5] ={1,2,3,4,5};

return O;

N

PECHI D ERDFEFNZ R 9 BEER/

pritnf(“& 5t = %d¥n”,sum(a,5));

[Z
N

o+= (a+=b; ©® a=a+h;)) )

°-= (a-=b; <& a=a-b;)

o¥= (a*=b; < a=a*b;)

o/= (a/=b; < a=a/b;)
\o%:, :,A:,|:’<<:,>>: /
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#include <stdio.h> size_t
X EE|DESE RSB S strlen(const char* str) {
size t size tlen =0;
strlen(const char str[]) { while(*str++)
size_tlen =0; len++;
size_ti=0; — return len;
while(str[i++] 1= “¥0){ \} )
len++;
}
return len;
}
int
main(int argc, char** argv) {
char str[] = “UTSUNOMIYA”, CEENDARXIL7ZYID-=-8HIC
pritnf(“f & = %d¥n”,strlen(str)); FEERIM AT EE L’Cé’%é(iﬁ'l'ctstrlng h#1-
return O; L) A ,5)
} SEEEMHAEINTOAVLERLHD
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e (1)

main() B £ M Trand () B 2% # A (#include
<stdlib.n>HWILE)L T, Olz,U:lOOﬂE,ﬁO) =D
B —#RELBZn=10BE£ L, TNZintE S
a[n]IZ#&#R9 5

B2 Ala[] # B Z#EEE (void print_array(const int
af], int nN)Z ¥ /)

eS| D H B 7 RExd HEHEvoid reverse int(int
af], int N)Z{ERktE &

RERLT-B25a[]D F & Z#EEE (void
print_array(const int a[], int nN)ZFI )
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FAEE BREMAX[FAZ2]. [FAZn]; |
m int a[2][3];

m double f[5][8][10]; £TBD YA X4 J
' ERLTHRL
JZEEE&'JOD*JJ; A1k
o N[ -
/I N a[21[3] int a[2][3]1 2{3 ) int af ][3] N ;3’
a{gﬁ = ;; 456 - 4,5,6
a =2: :
Ao =3 | = A —
a[1][0] = 4: int a[2][3] = {
a[1][1] = 5: t1,2,3}
a[1][2] = 6; (456 1 A0 J
\_ - Nk /_L HOoTHLRLY 14




YV OFZE #define

[#define XFH1 XFFH2 J {Eﬂ%iiﬂé‘ﬁt\é&}

KRB HIZE A EE
m #define SIZE 100
m #define Pl 3.14159265358979323846

[#define 2504 (31%) gwggtx:ﬂga}} [ <ong@RT

MEA R,
a #define MUL(a,b) ((2)*(b)) EOHAI
7 = MUL(20,10): <7 = ((20)*(10)): | ERRBE

#define MUL(a,b) a*b

m Z = MUL(x+20,y+10);>z = x+20*y+10;
#define ADD(a,b) (a)+(b)

m Z = ADD(X,y)*10;=z=(x)+(y)*10;
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#define INT_SWAP(a,b) {int t;t=a;a=b;b=t;}%Fl|

ILCESIDEEEIRE (1) THER L= B % KR &z
'd’%)F;Eijzvmd reverse int(int a[], int nN)ZS8UEE &

BeFlalD B EEEmanE N TERLI=XF
Filchar str[]=*"UTSUNOMIYA"% | &5

(str[[=“AYIMONUSTU”) 3 % B %void

reverse_char(char* st)Z{ER& & ({BL.
string.hF| A A~1])
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INT IV —rDBIE(RFvr1EH)

a[0] | 20 20 20 20 20 | [ 20 >d e
a[1] | 6 6 6 6 6 ><J{ 3 20
a[2] | 55 55 55 55 3 6 6
a[3] | 87 87 87 | 3 55 55 55
a[4] | 3 3 3 87 87 87 87
as] [ 45 13 13 13 13 13 13
ale] | 13 | 45 45 45 45 45 45
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INT LY — DR (R 2@ H)

[ 3EoE )
al0] | 3 3 3 3 3 3
a[1] | 20 20 20 20 20 N 6
a2l | 6 6 6 6 6 20
a[3] | 55 55 | [ 55 kA 13 J— 13 13
a[4] | 87 87 13 ><} 55 55 55
aj5] [ 13 }— 13 ><} 87 87 87 87
al6] | 45 |— 45 45 45 45 45
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R e

a[0]
a[1]

a[2] 20
a | 18 |
a[4] | 55
al5] [ 87
a[6] { 45 |




INT LY —DIERE (R 40 H)

nd 5o E T8
al0] | 3 3 3 3
a[l] | 6 6 6 6
a[2] | 13 13 13 13
a[3] | 20 20 20 H—+ 20
a[4] | 45 " 45 ) 45 |—| 45
a5] [ 55 | 55 | 55 55
al6] | 87 }— 87 87 87

|

XK|HN1LEHITHOIETIIE

KRTLTHEL

|
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R e

a[0]
a[1]
a[2]
a[3]
a[4]
a[5]
a[6]
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INT LY — DR (R 6[E H)

L For T))
a[0] 3 3
a[l] 6 6
a2] | 13 13
a[3] | 20 20
a[4] | 45 45
a[5] | 55 » 55
a[e] | 87 » 87

[E%%zn-llﬁlwz#vféﬁﬂ
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mainBE# N Trand ()8 =FIFAL TO~
RAND_ MAX®D#ELEL 22 n{E A pk . BL 5

a[n]| ZH&HN

Bedla[)z /N7 LY —FZ&>THRIE (S
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T8 2 5 %void

bubble sort(int a[], int n)Z{ERk
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